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CANH=D 14,603,599 12,685, 159 1,918,440
= 2,657,936
< 166,590
s 9,733,137
T 2,045,936
PES S AIDIEE 24 7,579,913 8,645,389 A 1,065,476
= ZelAHE = 944,350 260,500 683,850
=2l HE 2BHE 915,500 251,800 663,700
201 Let24d] 9,800 5,600 4,200
01 At 22l 9,800 5,600 4,200
O%dz &4 =& 9,800
—ZHERAG BAL =E
70,0003 20 *43| 5,600
—RHHAAVE (12D) FHT 2
70,0003 x5% » 123 4,200
202 Odl 2,700 2,700 0
01 = LH 4 Hi 2,700 2,700 0
OZAAHETHAEE =& 2UHAYI
60,0003 x3H 15 2,700
203 ¥ S =&l 3,000 3,500 A 500
03 A=A H 2 =AY 3,000 3,500 A 500
OZANHE S R =2 3,000,000 3,000
207 O] 900,000 240,000 660,000
01 289 620,000 200,000 420,000
02025 Uz 22lHE THIE
500,000,000 =14l 500,000
02025 BY2 22N WY MFsBs O}
29 120,000, 000& * 14! 120,000
02 & &HIH I 280,000 40,000 240,000
OEAMAE JI==A EEHH 7= ES
240,000,000 » 14! 240,000
OSAIAE HLH(UPIS)ZE20H 29 2 A
2l 18,000, 000& 14! 18,000
OZAIHE HEAAE(UPIS) D/BEESE & H
EANAE S 2el 22,000,000 =14 22,000
NEAHED &3t 28,850 8,700 20,150
201 ¢et24E] 7,700 7,700 0
01 At 22l 7,700 7,700 0
OYXXENH =H - FHI 100,000& «30CH 3,000
ONEN SE5 HMH 2,000& *1000HK 200
OHel=3Il 7¢ 30,0002 504 1,500
OEN 2228 ¥ 3,000& x1,000H 3,000
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301 gt L= 1,000 1,000 0
12243 1,000 1,000 0
OXN&EA Ot XNHE 293 20,000& x50H 1,000
401 A& HIZ 2018 20,150 0 20,150
01 A& HI 20,150 0 20,150
ogedz AMEANsdZ Jlg 24 20,150
— AAEA 500,000,000& *4.03% 20,150
Z 2t H = 2tel 27,000 31,000 A 4,000
ZSAZNSLZ2ALTAAY 27,000 31,000 A4,000
206 M= Hl 3,000 3,000 0
01 M= 4l 3,000 3,000 0
OsgZDE Iyl FH PYAT2 9 55)
3,000,000& =14 3,000
301 gt L= 15,000 15,000 0
12 J|EH2 & 2 15,000 15,000 0
OOISCHE 2H8 XA (MR AL 20% X|
) 15,000, 000& 15,000
401 AIEHI L 2 CHEI 9,000 13,000 A 4,000
01 A& tI 9,000 13,000 A 4,000
OZ1s A X & 2¢el 9,000
—EAY NFAHAG 24 2 e
250,000 *200H 2 5,000
— ==X EANAN OlE 4,000,000& =1 2 4,000
T HE AL 2tel 6,608,563 8,353,889 A 1,745,326
THEANLEH 5,787,160 7,120,615 A 1,333,455
302 OI=LTHOH E &t = 10,000 10,000 0
02 AR THOH A =S FESELS 10,000 10,000 0
OZHEANE MDY Y Hel 10,000, 000& 10,000
401 Al HI X 201 5,777,160 7,110,615 A 1,333,455
01 A& Hl 5,763,750 7,094,240 A 1,330,490
OZHEANEZZ HESA 5,763,750
—WANZHEANECZ(222-14, 55 A )L
= Ab(L=140m, B=8m) 700,000,000 » 14! 700,000
—DMPHEANLEZZ2(L21-35 8 )HE S AH
L=267m, B=10m) 463,750,000 » 14! 463,750
—SEZHEANECZ (A22-25 6 )IME 3 AH(
L=390m, B=8m) 900,000,000 =14 900,000
— S ZHEANEEZ(AE3-168H, 2-55 4
)W & S AH(L=170m, B=8m) 3,000,000
3,000,000, 0003 14
—CHZAHAEANECZ(S22-15 6 ) FHI B AH(
L=520m, B=10m) 400,000,000& =14 400,000
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—IEZAEANEET2(LE3H4, 115H)MH -
= AH(L=160m, B=4~6m) 300,000,000 =14l 300,000
03 Al 2 THHI 13,410 16,375 A 2,965
OZHEANEZZHES AL AIE2THZ
5,363,750,000& *0.25% 13,410
T HEANEES A2 405,053 413,274 A8,221
201 £B-2d| 6,000 0 6,000
01 At 2t 2|l 6,000 0 6,000
O&A=z=208 7 3,000,000 24 6,000
401 Al HIZ 2018 399,053 413,274 A 14,221
01 A& HI 396,200 411,150 A 14,950
OAN&E=E |X2cel 300,000,000& =14 300,000
OZHEANE DI2EX 24 96,200,000 14 96,200
03 Al S THHI 2,853 2,124 729
OZHEANELESHN 2L AMERUHZH
396,200,000& *0.72% 2,853
SN =E 416,350 60,000 356,350
201 ¢4l 10,950 0 10,950
01 At 2t 2l 10,950 0 10,950
OSAMTHMAIY =& LEt=ZH| 10,950
—SATHAEAY =& AR ESHI
2,000,000 » 14! 2,000
—SANHEAY =T =
8,000 *3H 1002 2,400
—SAMEANY E2S HA
1,250,000& 338 3,750
— SATHAAIY 2t ARG HFAAX =
70,000& x 10 x43] 2,800
202 044l 5,400 0 5,400
01 = LH o4 1l 5,400 0 5,400
OEAMMHY mEAY =& b
60,0003 »3H 302! 5,400
401 Al HIZ 201 8] 400,000 60,000 340,000
01 A& HI 400,000 60,000 340,000
Ogeda TAHMads HE =8
100,000, 000& * 14! 100,000
O ZAME=E HAEH
300,000,000 =14 300,000
QI2AHIA e 15,940 15,460 480
S A Z2lel M A s 15,940 15,460 480
sANEEXN HEY B 15,940 15,460 480
201 £B-2dH| 7,140 6,660 480




EA: TAASD
M oRAMUIA NS

@2 sxzelo HAHS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 7,140 6,660 480
OsgsXNdEX HEH 22 MA
60,0003 x 150 2 23] 1,800
OsgsidE ZAHSY 300,000& x53] 1,500
Os8si &= Sl 8,000& x6H 80! 3,840
202 Odl 3,800 3,800 0
01 = LH 4 Hi 3,800 3,800 0
OEYHsSKNEE Al.22H IXEHSE
60,0003 x3H 10 1,800
OSHsA(OHLse) &% 20,0003 »2H *502 2,000
401 A& HIZ 201 8] 5,000 5,000 0
01 A& HI 5,000 5,000 0
odata e 5,000,000& =13l 5,000
OlSE 10 XS A=XE3 =4 5,361,890 2,690,260 2,671,630
= 1,543,952
< 27,342
[ia 1,744,660
T 2,045,936
OLS0E =AHEd ZdAY 5,325,480 2,654,400 2,671,080
= 1,543,952
< 27,342
[ia 1,708,250
T 2,045,936
SHE BIEEH 15,000 15,000 0
< 4,500
s 10,500
402 QI2EXt20l ™ 15,000 15,000 0
< 4,500
[ 10,500
02 2IZt 2 AL EZ (OIS ) 15,000 15,000 0
OEHEXZAY 15,000
—sHEUEEYI 1,000,000& 15 15,000
< 4,500
[ia 10,500
SEUE =AY 45,000 45,000 0
402 RIZEX201 A 45,000 45,000 0
01 U2 EALE X (KA R) 45,000 45,000 0
OsZed =6AY 3,000,000 »15= 45,000
SH0IE A2 XNENWE 46,640 42,400 4,240
< 13,992
[ia 32,648
402 RI2HX20l 46,640 42,400 4,240
< 13,992
[ia 32,648
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02 QI EASEZ (OIS ) 46,640 42,400 4,240
OZHIEx= AL 46,640
—Sd0IE A== NSHEAEY
2,120,000& 225 46,640
= 13,992
[ia 32,648
SdoIEXE BIEEH 20,000 17,000 3,000
< 6,000
[ia 14,000
402 RI2FXt20l ™ 20,000 17,000 3,000
< 6,000
e 14,000
02 RIZE X2 AL EZ (OIS ) 20,000 17,000 3,000
OEHEXZAY 20,000
— sdiOIEXNS BIEEH 500,000& x40 20,000
< 6,000
[ia 14,000
AN =LA XA 20,000 20,000 0
402 RI2EX20l A 20,000 20,000 0
01 U2 EALEX (XA R) 20,000 20,000 0
OXMYMU F=HEAHHIXE
1,000, 000& »20 Al CH 20,000
el A (XHA) 45,000 0 45,000
311 X+ S0l At &f & 45,000 0 45,000
04 XY S0l At a2t 45,000 0 45,000
O#=ze XYM 0K & et
4,500,000,000%& 1% 45,000
SOHE 0 FEIHXZALY 19,000 19,000 0
= 9,500
< 2,850
s 6,650
402 2I2H X201 M 19,000 19,000 0
= 9,500
< 2,850
s 6,650
03 212t & AFH HI 19,000 0 19,000
OZHIEx= At 19,000
—SOHEZMHY FEIHE =AY
3,800,000& x5 19,000
= 9,500
< 2,850
s 6,650
HEe A (BEX) 5,114,840 2,496,000 2,618,840
= 1,534,452
e 1,534,452
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Al 2,045,936
403 MtXISHHSA=0l& 5,114,840 2,496,000 2,618,840
= 1,534,452
s 1,534,452
T 2,045,936
02 S 2SO0 HEAE R E AL H 5,114,840 2,496,000 2,618,840
OZHIEx= At 5,114,840
— HEFEHAHE 5,114,840,000& 5,114,840
= 1,534,452
i 1,534,452
H 2,045,936
A=EN =g 36,410 35,860 550
Zeld=dH 28,640 28,090 550
201 Let249] 28,640 27,090 1,550
01 At 22l 28,640 27,090 1,550
Oo2g+¢ 2,240
— A= 28+ 70,0003 25 13| 1,750
~DEZU2NINIAS 2H+T
70,0003 »4H * 12 280
—SSsTHANERRKE 2L+
70,0003 *3E * 12 210
OAETH THPL(HBT Q)
100,000& =10 1,000
O= &l 4,400
—A=gRFA 8,000 x5 »802! 3,200
— RS SIEEYRFA 8,000& *3H x50 1,200
OA=A HRUA =2 300,000& 7024 21,000
B = 7,770 7,770 0
201 L2l 2,250 2,250 0
01 At 22l 2,250 2,250 0
Oguss oz 2PS(H49) A
60,0003 x 1000 2 *23] 1,200
=R A== 88 = 210,000& x53] 1,050
202 44l 5,520 5,520 0
01 = LH 4 b 5,520 5,520 0
ORZ2 2T NG L o5
20,0003 »2H +50! 2,000
OREZRY f3s, w2d S A
60,0003 »8H x4 1,920
OR=SIEEH g2 20,0003 »2H 40 1,600
QDI =MEBEHO st 1,406,480 1,334,050 72,430
= 1,113,984
< 139,248
fia 153,248
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IIZME2d XNEAY 1,406,480 1,334,050 72,430
= 1,113,984
< 139,248
s 153,248
=HS0(exz) 942,480 970,050 A27,570
=2 753,984
< 94,248
s 94,248
301 g4 = 942,480 970,050 A27,570
= 753,984
< 94,248
[ia 94,248
01 MI2EZE 06z 942,480 970,050 A27,570
OZHIE= A 942,480
— FEAXZ(8000t+) 942,480,000 942,480
= 753,984
< 94,248
s 94,248
FHSWH(=ERXA) 450,000 350,000 100,000
= 360,000
< 45,000
[ia 45,000
403 A X EHS 20l A 450,000 350,000 100,000
= 360,000
= 45,000
= 45,000
02 SO 2SOIlCHeH A2 X 2 & A I 450,000 350,000 100,000
OZ3HIEx= A 450,000
FE M (558) 450,000,000 450,000
= 360,000
< 45,000
s 45,000
HASHE gUHESESZ N 14,000 14,000 0
501 A3 14,000 14,000 0
01 22t Xt= 14,000 14,000 0
OMASHE 2UHESS NE 14,000, 000& 14,000
MEES(SAAS) 138,000 0 138,000
HEHHXE 138,000 0 138,000
I3HES 138,000 0 138,000
702 JISHES 138,000 0 138,000
(RPIE=RSE—= 138,000 0 138,000
O=sAZDFHHII= d&E3 (=2, UHE =
g=) 138,000, 000& 138,000
HYRIZH (TAASD) 101,376 0 101,376
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Jl =23t 101,376 101,376
Jl23Hl 101,376 101,376
201 LEr2 Y| 53,976 53,976
01 At 22l Yl 53,976 53,976
ORNESH 1,831,000& x24H 43,944
==l 8,000& x24H »25 4,800
OS A Y Xt 5,232
— =S A 286,000 10 = 12& 3,432
— SHEAD| 150,000 x 1CH*12& 1,800
202 (4] 43,200 43,200
01 2L Y] 43,200 43,200
O&LH bl 100,000 x24H = 12& 28,800
O22 ¢ Hl 75,000& 24 x8 14,400
203 € R =&lY| 4,200 4,200
04 2SI L RF=AH| 4,200 4,200
ORANEIELERFAY 350,000& x12& 4,200




